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6. Jamal asked 50 people what type of television shows they like. 15 people like comedy shows, but not drama
shows. 10 people like drama shows, but not comedy shows. 5 people liked neither type of show.

a) Draw a Venn diagram of these sets.
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b) Selected petsen liked both types of shows?

P(cnp) = 20
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7. Which of the following are mutually exclusive events?

a) Rolling a double ¢r rolling a sum of 4 when rolling two dice. N O

Nex

c) Drawinga red card or a spade from a standard deck of 52 playing cards. Y& <

b) Rolling a sum of 3 or a sum of 4 when rolling two dice.

M +H0+H =30
D MASS 3@
- o,\i.?s_o
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d) Drawing a black card or a spade from a standard deck of 52 playing cards. O

8. Enzo rolls two standard dice. Determine the probability of each event.

a) Rolling a double ¢r
(8

b) Rolling a sum of 3 or

1 2 3 4 5 6
1 /(1,1)(1,2)](1,3)](1,4)|(1,5)](1,6)
2 1(21)](2,2)|(2,3)|(2,4)](2,5)] (2,6)
3 1(31)](32)](3,3)](34)](3,5)](3,6)
4 |(41)](42)](43)|(4,4)] (4,5)] (4,6)
5 1(51)](52)]|(53)](54)]|(55)](5,6)
6 [(621)](62)](63)](64)](65)](66)
rolling a sum of 4. \m = _W
SEHREY |36 g
asum of 4.) 5 ,.
R =T
s il

c) Rolling a sum less than 3 or a sum
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